Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 29/02/2024
Exam Time 9:00 AM - 10:00 AM
Subject [Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1 Which of the following groups of letters when sequentially placed from left to right will complete the given series?

WWXXYYZZWWX VVZZWW XVVZZ WXXYY Z
Ans 1. }?}rxz
W 2. XXWZ

3. ZXYW
4. WXYX

Q.2

Ans 1. WA
v 2. AC

3. 7ZB

4. VX

Q.3 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

HMP, JOR, LQT, NSV, ?
Ans 1 PWY
2 PXV
¥ 5 PUX
4. WPX




Q.4

Ans

Q.5

Ans 1. 9x2-1+8=1
2.9%2+1—4=7

V3 9-1+7=-3
4 1+9%x3-4=8

Q6  |n a certain code language, ‘QUITE' is coded as ‘216", ‘PROVE’ is coded as 228" What is the code for
‘EXIST in that code language?

Ans 1. 959
2. 252

¥ 3 231

4. 256

Q.7

Ans  1.970
¥ 2. 980

3. 905

4. 990




Q.8

Ans

1 F
2. E
3. G
4 H

Q.9

Ans

Select the option that is related to the fifth word in the same way as the fourth word is related to the third word and the
second word is related to the first word.
SUN TEMPLE : GUJARAT :: GOL GUMBAZ : KARNATAKA :: ATANTA CAVES : ?

« 1. MAHARASHTRA
2. BIHAR
3. TELANGANA
4 TAMILNADU

Q.10

Ans

If37DIBEB4F21=51and57TD28E90F 15=79,. then I4D 17E8F4="

115
2. 24
#3. 29
4. 31

QN

Ans

P is the mother of Q. Q is the sister of R. R is the brother of S. S is the husband of T. T is the sister of U. U is the wife of
V.

How many female members are in family?
L1 4
2.1
3.

4.

| L]

Q.12

Ans

1. 280
2. 300
3. 203
4308




Q.13

Ans 1 4.1.2,5,3
2. 4,2,5,3,1
3. 4,1,5,3.2
4.4,1,2,3,5

Q.14

Ans

Q15 In a certain code language, ‘AHEM is coded as “XDBI'. What is the code for ‘BETS’ in that code language?
Ans 1. YAPO
2. YBQP

3. YBQO

« 4 YAQO




Q.16

Ans




Q.17

Ans
1,
2.
3
=]
4.
Q.18
Ans : :
1. Weither conclusion I nor IT follows
2.
3.

o 4.




Q.19
Ans
1.
2.
3.
o 4.
Q.20
Ans 1. M
V28
3.Q
4. O
Section : Part-B-General Knowledge and General awareness
Q.1
Ans 1
2. Hattrick
« 3. Sprint
4. (Crease




Q2 The state of has launched ‘Chavath e Bazaar’' initiative in the month of September 2023.
Ans 1. Bihar
2. Tharkhand
3.
4 Goa
Q3
Ans I Article 40
2. Article 32
3. Article 270
4. Article 226
Q4
Ans 1 G]'.'IJ.}? I
2. Both I and IT
3. OnlyI
« 4 Neither I nor IT
Qs
Ans 1.
2
3.
4,
Q6 WWhat is the term for the policy of replacing or substituting imports with domestic production?
Ans 1.
2
3.
4,
Q7
Ans 1.
2
3.




Q.8

Ans 1. Badminton
2. Lawn Tennis
3.
« 4. Hockey
Q.9
Ans 1. 400 BC
2. 126 BC
+ 3. 326 BC
4. 550 BC
Q.10 The Ashtapadis of jayadeva’s Geeta Govinda are sung and danced in which of the following dance form?
Ans 1.
2,
3. Kathak
« 4. Manipuri
Q11 The Federation of the Indian Chamber of Commerce and Industries (FICCI) was formed in
Ans 1. 1927
2.1923
31920
41917
Q.12
Ans 1.
2,
3.
o 4.
Q13 Which former Prime Minister of India has been conferred Lifetime Achievement Honour in UK?
Ans 1
2,
3.
4.
Q.14
Ans 1. Maharashtra
2. Karnataka




Q.15
Ans 1. Neither I nor II
2. Only I
3. Only I
+ 4 BothIandII
Q.16
Ans o 1.
2.
3,
.
Q17 Who has been recently appointed as the Vice Chief of the Indian Air Force in January 2023?
Ans 1
2.
3. Anil Khosla
&4
Q18 According to Census 2011, which of the following North-Eastern states have the highest literacy rate?
Ans 1. Nagaland
« 2. Mizoram
3. Assam
4. Manipur
Q19 Non-metals, are electronegative. They tend to form bonds by electrons.
Ans 1.
« 2. gaining
3,
4. losing
Q.20
Ans 1. Myanmar
2. Nepal
3. Bhutan
« 4. Japan

Section : Part-C-Elementary Mathematics




Q1

Ans

1. Only IT

2. Weither I nor II
+ 3 BothIandII
4. Only I

Q.2

Ans

1. 814
2. 1015
¥ 3 918
41206

Q.3

Ans

What should be added to 95 percent of 480 so that the obtained number becomes equal to 70 percent of 810?
1113
« 2 111
3117
4. 108

Q.4

Ans

The average of 48 numbers is 78. If we subtract a number *X’ from each number, then the average becomes 57. What is
the value of X?

124
2. 22
&3 21
4. 25

Q.5

Ans

The price of a mobile phone is increased by 15%, and the new price is Rs. 11,500. What was the original price?
1. Rs. 12,000
« 2. Rs. 10,000
3. Rs. 10,700
4. Rs. 11,300

Q.6

Ans

« 1. 2.5 days
2. 2 days
3. 1.5 days
4. 3 days




Q.7

Marked price of an article is Rs. 9900. If a discount of 25 percent is given, then what is the selling price of the article?

Ans 1. Rs. 7425
2. Rs. 7555
3. Rs. 7825
4. Rs. 7215
Q8 The perimeter of a rectangle is 22 cm and the length is 1 cm. What is the area of the rectangle?
Ans 11 cm?
2. 20 em?
v 3 10 cm?
4. 3 sz
Q.9
Ans 1. 31.9%
2. 35.5%
+ 3. 32.5%
4. 38.4%
Q.10 B alone can complete half of a work in 150 days. In 30 days what percentage of the work will be completed by B?
Ans 1. 11 percent
2. 15 percent
« 3. 10 percent
4.
QM1 Ifa:b=7:4, then what is the value of (6a + b) : (6a —b)?
Ans 117 :13
2. 25:19
3. 33:28
4 23:19
Q.12
Ans 1. 600 km
2. 480 km
3. 320 km
+ 4 400 km
Q13 Selling price of a table is Rs. 7686. If profit percentage is 22 percent. then what is the cost price of table?
Ans

1. Rs. 6400
2. Rs. 6500
3. Rs. 6000
« 4 Rs. 6300




Q.14

The difference between the compound interest (compounding half yearly) for | year and the simple interest for 1 year

on a certain sum lent out at the annual rate of 40 percent is Rs. 360. What is the sum?

Ans 1. Rs. 10000
2. Rs. 9500
3 Rs. 9000
4. Rs. 12200
Q15 The ratio of two numbers is 5 : 6. If their product is 1920, then what is the sum of both the numbers?
Ans 1. 77
2. 99
3. 84
« 4 B8
Q16 24 _[8— {6—(10—(8+5))!] what is the value of this?
Ans 1. 10
2. 15
3. 20
o 4 25
Q.17
Ans 1. Rs. 550
+ 2. Rs. 650
3. Rs. 600
4. Rs. 700
Q.18
Ans 1. Rs. 95000
2.
3. Rs. 90000
o 4.
Q.19
Ans 1. 3
2. 11
« 3 33
4. 44




Q.20
Ans 1. §
2. 4
3.2
w40
Section : Part-D-English
Q.1
Ans 1. most
2. two
« 3. too
4. 10
Q.2
Ans 1. visit our

2. yisits our

4. No improvement

Q3
Ans 1. effluent
« 2. eloquent
3. effulgent
4. elaborate

Q.4

Ans 1. declared

2. gave

3. voiced

4. said




Q.5

Ans 1. inoffensive

2. aboriginal

« 3. pleceful
4. their
Q.6
Ans 1
2
3.
4.
Q7

Ans « 1. Attend

2. Carrousel

3. Carrier
4. Abandon
Q.8
Ans 1.
2. No error
o 3.
4.
Q.9
Ans 1. flings
2. throw
3. throwed

« 4. flung




Q.10

Find the part of the given sentence that has an error in it. If there is no error, choose ‘o error’.
Either Sam or Ishita have invited her for the Christmas party.

Ans 1. No error
2.
&3
.
Q.1
Ans 1.
2
3. No improvement
a.
Q.12
Ans 1 are too
2. has too
3.
4. is too
Q13 Select the sentence with no spelling errors.
Ans o 1.
2.
3.
4.
Q.14
Ans 1. Scare
2. Baffle
3. Dismay

W 4. Cheer




Q.15

Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given passage, which
also fits contextually as per the word given in the bracket.

Healthy eating is a key component of a ( 1.complete) lifestyle. It's essential to maintain a balanced diet that

includes a variety of fruits and vegetables, lean proteins, and whole grains. Such a diet not only provides the necessary
nutrients for (2. ideal) growth and overall well-being but also reduces the risk of (3. chronic)

conditions such as heart disease and diabetes. In addition to a nutritious diet, regular physical activity is (4. essential)
for maintaining good health. Staying (5. healthy)

and active can enhance both physical and mental
well-being.

SubQuestion No : 16

Q16 Fill in the blank (1) with the appropriate word from the options below:
Ans 1. wholesome

2. monotonous
3.

4. active

Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given passage, which
also fits contextually as per the word given in the bracket.

Healthy eating is a key component of a ( 1.complete) lifestyle. It's essential to maintain a balanced diet that

includes a variety of fruits and vegetables, lean proteins, and whole grains. Such a diet not only provides the necessary
nutrients for (2. ideal) growth and overall well-being but also reduces the risk of (3. chronic)
conditions such as heart disease and diabetes. In addition to a nutritious diet, regular physical activity is (4. essential)

for maintaining good health. Staying (5. healthy)

and active can enhance both physical and mental
well-being.

SubQuestion No : 17

Q17 Fill in the blank (2) with the appropriate word from the options below:

Ans 1 optimal
2. adequate
3. special

4. robust




Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given passage, which
also fits contextually as per the word given in the bracket.

Healthy eating is a key component of a (1.complete) lifestyle. It's essential to maintain a balanced diet that

includes a variety of fruits and vegetables, lean proteins, and whole grains. Such a diet not only provides the necessary

nutrients for (2. ideal) growth and overall well-being but also reduces the risk of (3. chronic)

conditions such as heart disease and diabetes. In addition to a nutritious diet, regular physical activity is (4. essential)

for maintaining good health. Staying (5. healthy)

and active can enhance both physical and mental
well-being.

SubQuestion No : 18

Q18 Fill in the blank (3) with the appropriate word from the options below:

Ans 1. unmedical

2.

+ 3. infectious

4. lifestyle

Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given passage, which
also fits contextually as per the word given in the bracket.

Healthy eating is a key component of a (l.complete) lifestyle. It's essential to maintain a balanced diet that

includes a variety of fruits and vegetables, lean proteins, and whole grains. Such a diet not only provides the necessary

nutrients for (2. ideal) growth and overall well-being but also reduces the risk of (3. chronic)

conditions such as heart disease and diabetes. In addition to a nutritious diet, regular physical activity is (4. essential)
for maintaining good health. Staying (5. healthy) and active can enhance both physical and mental

well-being.

SubQuestion No : 19

Q19 Fill in the blank (4) with the appropriate word from the options below:

Ans 1. ardours
2. colloquial
« 3. wvital

4. Innocuous




Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given passage, which
also fits contextually as per the word given in the bracket.

Healthy eating is a key component of a (l.complete) lifestyle. It's essential to maintain a balanced diet that
includes a variety of fiuits and vegetables, lean proteins, and whole grains. Such a diet not only provides the necessary
nutrients for (2. ideal) growth and overall well-being but also reduces the risk of (3. chronic)

conditions such as heart disease and diabetes. In addition to a nutritious diet, regular physical activity is (4. essential)

for maintaining good health. Staying (5. healthy) and active can enhance both physical and mental
well-being.

SubQuestion No : 20

Q20 Fj]] in the blank (5) with the appropriate word from the options below:

Ans 1. fit
2. pertinent

3. competent

4. shape

! feu T gy ¥ aifed Wee & e 9t adet 3 S|

v g 1 o 1 € B AR 2
Ans 1 ﬁg

42 feu T gy ¥ aifed Weal & fiu el Wl arel e &1 99 B |

D15 27l el 1 gTed 31 el o
Ao ot ot ereH Y gTeid i el B
2 fopue off aredt &1 grad 31 el g
3. Yl e &t gTed 31 el o
4 URGdA PI aLTHdl el o




Q.3

Ans

fFrafafad uy 8, fRU Y 9R fasedl # 9, 39 [Goed o1 907 < o f3U 0 getat & o1 o] 9498 9 § e
RG]

TOREG Dl
T HO AT
2. g9 Ul
S UH ST
o 4. aﬁm

Q.4

Ans

FafeRed oo #, 39 aIaar & Ugdie o armei a1 s ¥ vafid omfedl 8 afe ois adt A8 g
IS I el ¢ BT A BHiforg]

ATe | &1 AT 8 b afe ois avg a9 &9 w7 oSt g ol ag o= faret fammam & g1« # 9 diuiia gl
S|

v 1. @ A o A gl o
2 33l g I ag 1o fhell fasTa & &
» PRI TR
4. TArED| BT AFA ¢ fob afe Pl aeg gurd 9 1

Q.5

Ans

T a1v s 7 @i e 1 acEA e AT HST|
FIT 3T Y el el HTAT?
wmg?ﬂ'

Q.6

Ans

frofafRad v ¥ 9R Aol 7 O, 39 ey &1 994 &3 Ol B | U 1 wisg & yafoard! Weg &1 el [ddhed
g
Ugd & THY H IS AR o i (dRie) I g Hd 4

© fife
2. Y

gal‘;ﬂﬁ
« ¥




Q7

Ans

[T 7T e HT UAigar! J1d S|

Bd
R CAE
2. 9l
v Uy
4.4

Q.8

Ans

fGU TTU a1 &1 a8 YR 91d &, 9 $is (e €1 3G DIs q(C el ¢, dl '®Is Ijc ol & I
N YHEdl U R I8l 318 &d © 3R GIRI ded el &d |

v 1 QN gOedl UH IR
2 WEUBISads

* Bl I TIQ
4. 3R GERT UIgY el Hd |

Q.9

Ans

fFrATaTaT 99 H, 91X @Fedr H§ ¥, 30 TaT [9FeT & 907 F{ A7 IJeT F O F aeg #71 TFeT

gl
IF e F geSRT e ¥

. fdoft

2. ﬁ?IUT

3. ﬁ'@—&r
o 4 =l

Q.10

Ans

f&U TT¢ 9T BT 98 UM F1d &1, o9 &ig 7 3|

39 BIH & DI H SFR U] HF ERT dl Ugd adl S|
@R T 3R
2 3P HF R
3l g o gifo |

V4 g PHSD




QN

Ans

A=RT e &, 9N Reedl # @, 37 BheT &1 o097 #{ A & 7 ARFa & 5 HT arer
e 2
AGHAT S0 AT

. FqYr E@TeaT T
23@?—[3@?%%
v 5 A& STat ¥ dfesd FE

4 OIS & TFRT H THHTA T

Q.12

Ans

AT g F Wifea a1 F v o s aeg 7g fifew)
Ig FUT Ge H THAE 99 T F1H FaT gl

)

2. ATASTEY

3. S

v 4 T

Q.13

Ans

f&U U gy H IEd CRIoI-[AC=IST R1sg &1 T8+ HReh (Rad I &1 gfd Bifoid |

JERPUSIR__ T8
& 1. AT

2. 1:]13”

3. T=H]

4§

Q.14

Ans

frTafET voa &, 9% ecdr § ¥, 37 3909 &7 999 F¢ 3 356F H 67 71T 9 & [&ad e
FT TE AFeT § |
g & H a9 R H vF  (RREee) AT T IaT el 2

- gfcETe

v 2 faeeree
3. HfreaTH
4 Hfereg

Q.15

Ans

fU 7Y a1 H ¥gifdhd e &1 fad@d Use J1d HIfog|

qH dl 9gd SR 817

v e
2 sl

> S
4. gIRHG




Comprehension:

A T a3 wreamy # Fo wee o U o g 93e we=oe F TRe 9] Reew Rroaw #1 3w
T F CUAEF ¢ HR IR FFedt F § wafeaw seaw I RBwew 4|
T T sy Fdma Amm A oimam amar & @ 3w ?ﬁﬁﬁﬂ%ﬁ%lmaﬂmﬁ,ﬂﬁﬁrm
30 3% & TET HaUe § SeEyg # @ T Suweid TRadd # FeEy IRadd FEd ¢ |
ﬁﬂuﬂﬂﬁmaﬁqﬁawmmmmqﬁaﬁﬂﬂﬁ g | Sy
qﬁaéﬂﬁmwmﬂﬁ?wﬁaﬁmﬁmmm%wmﬁaaﬁaﬂluﬁaﬁm:—rms-‘r#
T FL A SHEH JT AT ﬁé@ﬁaﬁﬁ:ﬂm%lqﬁr#mgﬁﬁmﬁmﬁm
F% X IRATT g5 § UF Fe@g aRadd N IHeish HeA W 1S §| T H HeuTA A ad
A £ & g2 7 AOE TENaR Sedr S @ g1 Y & A &g 100 F§t 7 1 B
Wﬂﬂﬁﬁﬁﬁm%l{ﬁr#m#aﬁqﬁaﬁﬂmﬁﬁﬁmmﬁm% g TH
vor & B s of@da ar _ Sfy 9% 937 3 @ HeaT B

SubQuestion No : 16

VAT s lma Al AT A s TR FEd &l
Ans 1_35___*.3;'-
2. AtgH

v 5 STy

4 AL

Comprehension:

A T a3 TEEy # Fo g o U A g, 93w a0 F FRe R Reew U oaw §) 3w
AT F CAAEF T HR IR et F ¥ wafcam ey Iem Bwew 4|
=g 5 a7 ¥ g Alaw & fEges s & a3 ITaT FeEa &1 HUT ek, |fgat I
3EH HOF F FAG HAUA H FAGg F g T S e F SFearg Taed Fad g |
ﬁﬁuﬂﬂﬁmaﬁqﬁawmmmmqﬁaﬁﬁﬂﬁ g | ey
qﬁaﬁaﬁmwmﬂﬁﬁmﬁaﬂmﬁmmm%wmﬁaaﬁmluﬁaﬁmv—rms&ﬁ
T FL A SHHT JT AT ﬁa@ﬁaﬁﬁﬂm%wﬂr#mgﬁﬁmﬁmﬁm
ﬁmﬁaﬁhg@%uﬁm%ﬁﬁ%mﬁmﬁﬁﬁgﬁrmmmﬁm
gaa & & qe &7 d9Ee TeaR sear S T g Y & arvEe @i 100 st F 1 @R
FNEERE dF ¢ AT gl [ & d9A H Ag INEad e # T ¥ Fh FA @ TadT §, W 39

YR & ol of SREda 1 Sy W 9w MW @ HeRaT B
SubQuestion No : 17
W RRT 1 Rreeen, sfagfe, q@ 9sen, A Ay Seay oRadd & ¥
Ans 1-‘:Iﬁ<_=|'l'{
> gTel
3. g1

v 4 qiyoTeE




Comprehension:

A T a3 wreamy # Fo wee o U o g 93e we=oe F TRe 9] Reew Rroaw #1 3w
T F AAEF ¢ HR IR FFedt F § Fafeasm e I RBevew T+
T T sy Fdma Amm A oimam amar & @ 3w ?ﬁﬁﬁﬂ%ﬁ%lmaﬂmﬁ,ﬂﬁﬁrm
30 3% & TET HaUe § SeEyg # @ T Suweid TRadd # FeEy IRadd FEd ¢ |
ﬁﬁuﬂmﬁmaﬁqﬁawmmﬁaﬁm%ﬁwﬂﬁ g | ey
qﬁaéﬂﬁmwmﬂﬁ?wﬁaﬁmﬁmmm%wmﬁaaﬁaﬂluﬁaﬁm:—rms-‘r#
T FL A SHET THAET ST ﬁa@ﬁaﬁﬁ:ﬂm%‘lqﬁr#msﬁﬁmﬁmﬁm
F% X IRATI g5 § UF Fe@g aRadd N IHeish HeAl W 1S §| T H HeuTT A ad
A £ & g2 7 AOE TENaR Sedr S @ g1 Y & A &g 100 F§t 7 1 B
Wﬂﬂﬁﬁﬁﬁm%l{ﬁr#m#aﬁqﬁaﬁﬂmﬁﬁﬁmmﬁm% g TH
vor & B s of@da ar _ Sfy 9% 937 3 @ HeaT B

SubQuestion No : 18

O gfr IS TN F 919 FL ar SEHT W ST & &g o e W B

A R T AR
v 2 JIor faea

3. FEr 9T off =&T
4. Heeh BT

Comprehension:

A T a3 weEn # Fo wee o U o g 9% wesoe F oe 9) Reew o # 3w

T F AAEF ¢ HR IR FFedt F § Fafeasm e I RBevew T+

T T sy Fdma Amm A oimam amar & @ 3w ?ﬁﬁﬁﬂ%ﬁ%lmaﬂmﬁ,ﬂﬁﬁrm

W 3% & TAT HaUe F SeEyg # @ T Sueeid TRadd # Feay IRadd FEd ¢ |

ﬁﬁuﬂmﬁmaﬁqﬁawmmﬁaﬁm%ﬁwﬂﬁ g | ey

qﬁaéﬂﬁmwmﬂﬁ?wﬁaﬁmﬁmmm%wmﬁaaﬁaﬂluﬁammsfr#

T FL A SHET THAET ST ﬁa@ﬁaﬁﬁ:ﬂm%lqﬁrﬁ:msﬁﬁmﬁmﬁm

F% X IRATI g5 § UF Fe@g aRadd N IHeish HeAl W 1S §| T H HeuTT A ad
A § & e 7 AE SENaR §edr S @ g1 Y & A &g 100 €t 7 1 ZE

Wﬂﬂﬁﬁﬁﬁm%l{ﬁr#m#aﬁqﬁaﬁﬂmﬁﬁﬁmmﬁm% g TH

YeR F HEr M oflEdaT wr _ Sfy 9% 997 36w @ e B
SubQuestion No : 19
O g F T W T g § B J2dt 7 aEE FeaR sear T @ g
Ans v a ﬁ
2. FEMHT
3. 3feraRrr




Comprehension:

A T a3 wreamy # Fo wee o U o g 93e we=oe F TRe 9] Reew Rroaw #1 3w

T F AAEF ¢ HR IR FFedt F § Fafeasm e I RBevew T+

3T et 87 & g Alew & fEaa s £ & 3w ?ﬁﬁﬁﬂ%ﬁ%lmaﬂmﬁ,ﬂﬁﬁrm

30 30w & TAT HaUe § SeEyg # @ T Sueeid qRadd # FeEy IRadd FEd ¢ |

ﬁﬁuﬂmﬁmaﬁqﬁawmmﬁaﬁm%ﬁwﬂﬁ g | ey

qﬁaéﬂﬁmwmﬂﬁ?wﬁaﬁmﬁmmm%wmﬁaaﬁaﬂluﬁaﬁm:—rms-‘r#

T FL A SHET THAET ST ﬁmﬁﬁﬁﬂm%lqzﬁ#mgﬁﬁmﬁmﬁm

F% X IRATI g5 § UF Fe@g aRadd N IHeish HeAl W 1S §| T H HeuTT A ad
A £ & g2l 7 aOE AR §edr S @ g1 Y & A &g 100 F§t 7 1 ZE

Wﬂﬂﬁﬁﬁﬁm%l{ﬁr#m#aﬁqﬁaﬁﬂmﬁﬁﬁmmﬁm% g TH

YeR F HEr M oflEdaT wr _ Sfy 9% 997 36w @ e B
SubQuestion No : 20
O = gER ¥ B off oREST @ ST 9% 557 3R & T B
Ans 1 %ﬁ
2 A
S

o 4 HleAd






